33 ~ >
TEH  [A/N—0DFE]

2025 £ 1 A 4 B (%)

A% BHDCP FTHUHIPR -

HDCPEFR:  (58) (%)

2 Lh-b:

79h 1y

==

[[:iva BREA g 79h | 4Y |GROSS| HDCP | NET
B B EX FH 38 40/ 78] 6.5 71.5
2B BB TEF 50 45 95 22.6| 72.4
M [k ALE 46 44 90| 16.5/ 73.5
M | XF OE 42] 43 85/ 11.5] 73.5
5 O HA 46 49 95/ 21.5/ 73.5
66 [HIE BEX 39| 44 83 9.5 73.5
1 % ER 50/ 44 94 19.8] 74.2
N EI 47 46| 93] 18.6| 74.4
o Tk B 39| 43 82| 7.5 745
1061 %k & 46 50 96 18.7| 77.3
M6 [El RB= 43 44 87 9.5 71.5
1261 &Il #FE= 447 50/ 94| 16.5/ 77.5
136 [ENl »E 48] 50/ 98] 19.7] 78.3
1461 3% BF 48] 51 99| 20.5 78.5
156 =8 B 42 47 89| 10.5/ 78.5
166 B8 F# 431 48] 91| 12.5/ 78.5
1761 E BBE 38 47| 85 6.5 785
186 Bk BE 50/ 50/ 100/ 20.5/ 79.5
1961 [ X 45/ 48] 93] 13.5/ 79.5
2061 A Rk 51 42] 93] 12.5/ 80.5
2161 | EE — 46  42] 88| 7.5/ 80.5
26 R FE 42/ 48] 90| 8.5 81.5
261 [BA Hi 56/ 51| 107 24.5/ 82.5
2460 | @R B3 43| 47 90| 7.5 82.5
2561 [BAR HZ 42 50/ 92/ 9.5 82.5
2661 [ EES 54 49| 103 19.7 83.3
2761 (%@ FA| 49 45/ 94| 10.5 83.5
286 |[tkBE EE A7 49| 96| 12.5 83.5
2961 | K% W= 46] 56| 102 18.5 83.5
6L [MAx B— 48] 55/ 103 18.5/ 84.5
It |\K EHF 44 4] 85 -0.2 85.2
2461 |[FA HE 49 45/ 94| 8.5 855
3L [BAX ETH 50/ 52| 102 16.5 85.5
AL |FHR EF 57/ 54| 111 22.6| 88.4
3B [HA BA 57/ 56| 113 23.7] 89.3
6HL [AK B2 55/ 55/ 110| 18.5] 91.5
3761 [48@A BhE 51 51| 102] 6.5/ 95.5
8L AR EA 50/ 56/ 106/ 9.5/ 96.5
96 |BA% = 53 62| 115/ 14.5/100.5
P-1 IS5 yhINTHST




